N of associated (recoToSim) looper tracks vs dxy(PV)

N of reco track vs dxy(PV) N of associated (recoToSim) tracks vs dxy(PV)

S95=20-15-10 =5 0 5 10 15 20 25 05 =56-15-10 5 0 5 10 15 20 25 0%5=25-15-10 =5 0 b5 10 15 20 25 5=25-15-10 -5 0 5 10 15 20 25

——— DOM_mkKFit
[Nofrecowackvsd —— DQM_BDT_mKFit R

0.!

10

|

|
| H \u\ ] IIi Hm\
LI |m Ll

055 B OO SOV IO IO
=1-0.8-0.6-04-02 0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8

il ik
I
UL

991-0.8-0.60.40.2 0 0.20.4060.8 1 09 05060402 0 02040605 1

N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV)

N of associated (recoToSim) looper tracks vs dz(PV)

N of reco track vs dz(PV)




	Contents
	Page 1


